
0.001 x 0.1 = 97.5 x 0.1 = 99.3 x 0.1 =

0.141 x 0.1 = 0.112 x 0.1 = 0.913 x 0.1 =

0.8 x 0.1 = 0.83 x 0.1 = 0.1 x 0.1 =

73.88 x 0.1 = 0.066 x 0.1 = 9.31 x 0.1 =

28.2 x 0.1 = 19.38 x 0.1 = 8.436 x 0.1 =

0.7 x 0.1 = 3.4 x 0.1 = 0.162 x 0.1 =

0.1 x 0.1 = 806.3 x 0.1 = 0.72 x 0.1 =

0.3 x 0.1 = 0.001 x 0.1 = 7.058 x 0.1 =

0.04 x 0.1 = 0.632 x 0.1 = 0.008 x 0.1 =

0.04 x 0.1 = 30.2 x 0.1 = 0.024 x 0.1 =

9.8 x 0.1 = 0.009 x 0.1 = 3.8 x 0.1 =

8.22 x 0.1 = 0.052 x 0.1 = 0.002 x 0.1 =

0.074 x 0.1 = 3.48 x 0.1 = 7.512 x 0.1 =

34.7 x 0.1 = 51.73 x 0.1 = 68.3 x 0.1 =

0.2 x 0.1 = 0.08 x 0.1 = 0.479 x 0.1 =
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0.001 x 0.1 = 0.0001 97.5 x 0.1 = 9.75 99.3 x 0.1 = 9.93

0.141 x 0.1 = 0.0141 0.112 x 0.1 = 0.0112 0.913 x 0.1 = 0.0913

0.8 x 0.1 = 0.08 0.83 x 0.1 = 0.083 0.1 x 0.1 = 0.01

73.88 x 0.1 = 7.388 0.066 x 0.1 = 0.0066 9.31 x 0.1 = 0.931

28.2 x 0.1 = 2.82 19.38 x 0.1 = 1.938 8.436 x 0.1 = 0.8436

0.7 x 0.1 = 0.07 3.4 x 0.1 = 0.34 0.162 x 0.1 = 0.0162

0.1 x 0.1 = 0.01 806.3 x 0.1 = 80.63 0.72 x 0.1 = 0.072

0.3 x 0.1 = 0.03 0.001 x 0.1 = 0.0001 7.058 x 0.1 = 0.7058

0.04 x 0.1 = 0.004 0.632 x 0.1 = 0.0632 0.008 x 0.1 = 0.0008

0.04 x 0.1 = 0.004 30.2 x 0.1 = 3.02 0.024 x 0.1 = 0.0024

9.8 x 0.1 = 0.98 0.009 x 0.1 = 0.0009 3.8 x 0.1 = 0.38

8.22 x 0.1 = 0.822 0.052 x 0.1 = 0.0052 0.002 x 0.1 = 0.0002

0.074 x 0.1 = 0.0074 3.48 x 0.1 = 0.348 7.512 x 0.1 = 0.7512

34.7 x 0.1 = 3.47 51.73 x 0.1 = 5.173 68.3 x 0.1 = 6.83

0.2 x 0.1 = 0.02 0.08 x 0.1 = 0.008 0.479 x 0.1 = 0.0479

Multiplying Decimals by 0.1 Answers

www.intermathschool.com


